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Date : 06.05.2018

NEET-2018/Code #AA

NEET-2018 Sol

ution, Code-AA

PV =nRT
VoT = P =constant

Q=AU+W

[,=20cm

Now V) =v,

1 L
40N p 20\ p
20, 2
= [(=—+=-x20=13.3cm
J

()
_ [BRT _ [3k,T
rms M m
Vrms = Vescape
3k, T

=112x10°m/s

m

on squaring both side

3k, T
m

=125.44%10°

T:31><125.44><106

B

-26
__276xX10 7 o5 44x10°

3x1.38x107%
=302 107 =83623K =8.36x10°K
4.14
(3)

%n_(l—%}doo

= (I—EJXIOO =26.8%
373

(2)
(47+4.7)kQ
= % error _%XIOO =10%

47kQ =47x10°Q
Colour code is

4 — yellow

7— Violet

3 —Orange

10% — Silver
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NEET-2018/Code #AA

6. (3)

________________

for (1) and (2)

101 _ne
I €
n=10

I:—:

ne ¢€
nr r

= ‘I’ is independent of ‘n’
I a

8. (2)

From Brewster’s Law tanl, =p

= L, =tan"(u)

101/ noo.(2)

12.

(2)

d=2mm=2x10"m

L =5896A =0.5896x10 °m
D =100cm =1Im

6, =0.20°

6,=0.21°

Angular width of funges

we know that

Velocity of electron at t = Osec is V|

h
= de-Broglie wavelength L, =——  ...(1)
mV,
Velocity of electron at ‘t’ sec.
V=U+at
Fo—eb
E 2
V=V, + 0t = +eE,i
m . F eR,.
= a=—= i
L m m |

= de-Broglie wavelength of electron at ‘t’ sec

- h h ol
T E B eE
mVoom V0+e 0t 1+—2t
m mV,
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NEET-2018/Code #AA

13. (3)
N, =600
No. of Nuclei Disintegrated = 450
No. of Nuclei left
N =600-450=150
We know that N = Ny
2I1
Ny _600_,
N 150
= n=2
n= L =7
Tl 2
t=2T,, =2x10min = 20 min
14. (3)

] 2]
hv=hv,+—mv-
2
v=2v, let velocity =V,
] 2
h2v, =hv, + 3 mV,

v=35v, letvelocity=V,

|
h5v, =hyv, +5mV2'

= 4hv, = %m\fz2
for (2) and (1)

= mV,
2 -

(1)

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
wilZ) |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

I 15. (4)
| 20V
I R, $4k
c
| \% R,
I 20V 1, 500k oV
|
| =
| V,. =0V ov
|
| Ve =0V
|
| 6
20V 20x10
I, = = A =40pA
I PT500x10°  Sx10° T :
| =2 54107 A = SmA = 5000pA
| 4x10°
|
| B:L:500(),uA:]25
| I, 40uA
16. (4)
17. (2)
y=A-B+A-B
18. (2)
V=Vi
E=Ej
Velocity of e.m. wave is along E x B
This imply magnetic field intensity is along +k
= +tve z direction.
19. (2)

sini

sinr

sini

sin30

Sini:\/gsin30:\/5><%

1
V2

i=45°
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NEET-2018/Code #AA

20. (2)

q, =q,,E = constant, h = constant

!
|
| t m
‘ | tom = -t = |—= =t <t
v % 40 | t, \m, ~° 7
u=—-40cm
=g f=-15cm | 23. (3)
40cm ~ |
— +
111 | Q +Q
v u f |
L | R
v 40 15 |
| 1 1
o o r-loe- Q[ QJ
\% 15 40 | 2 2 (Ae,
120 120 24 | po_Q
v =-24cm | 2¢, A
| 24. (2)
1 %‘E s ]
—=f0 +X
C @) F | 4
S u=-20cm |
— = f=-15cm |
20cm |
I . ] | 22/@ + X /1
— o = 4 B
v u f |
LI o,
vo20 -5 I < 2kt
] | b
v 20 15 | 5 =£,—€
l:J6_O4:>l:L:>V:f6OCm I A=2(0,-1))
) ) | A =2(73-20) =2 x 53
Displacement of Image = 60-24=36cm away from mirror |
21. (4) | A =106cm
1 | v=320Hz
=—LI
hT I . = 106¢m = 1.06m
25%10° = Lx Lx (60x10)? | V = Vi = 320x1.06 = 339m/s
2 | 25. (2)
_S0x10” | 2= —ox
3600x10°° | 2= wx
L=13.89H |
22' (3) | ‘ | 4752 :E:|
1 | al= TZ X T
§= Ut+§at2 |
I T2 =472 X
/ a
S:%atz = t= é | -
: | T - 27'[\/g = 2’}'[ %
2h /th | a
t= |—= |— |
&L b T=—=msec
" |
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Date : 06.05.2018 NEET-2018/Code #AA

26. (4) I 29. (1)
A =0.5kgm™ | . .
Sdiv div
0=30° | Current sensitivity = ——=5000
mA Amp
B=0.25T |
| o div
I Voltage sensitivity :2()@
| NAB
o, =—
| C
I N o,
TR R
e [/Bcoso I
| = R:ﬁ:_SOOO:R=25OQ
| a, 20
! 30. (4)
Rod at rest = i
1[/Bcos6 = in 6
cos 6 = mgsin I T B
I:%Etanﬁ | 2r=D
| h ol D
| I
=0.5x——tan30° 2
5 | Ve
| A
[=11.32A |
27. (3) | To complete vertical circle
28. (3) : Velocity at ‘A’ is V, = /5gr
V=10 sin 314t (1) I from conservation of M.E.
L =20mH =20x10"H | V, =.2gh
C=100pF=10"F I
Now /2gh =.,/5
R =500 | £ &
X, =0L=314x20x10" =6.28Q I 2gh = Sgr
S
X =o' 31850 | h==r
oC 314x10* | 2
2 2 2 2 |
| Z|=\R? + (X - X, )* =4/50° +(31.85-6.28)° |
| h=2D
| Z|=56Q I
10 |
[ =t N2 _y6a |
1z 56 I
P =I’R =(.126)*x50 = 0.8W |
|
|
|
|
|

d) T PMT Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058
Contact No : 011-41024601-05
a.rgEt PageNo #6

excuusivewy ror menicaL enrance | E-maail : info@targetpmt.in Website : www.targetpmt.in




Date : 06.05.2018 NEET-2018/Code #AA
31. (3 !
3) | S A[U+V .
: 2 | 2
A — solid sphere 1, :gMR2 |
! I x-(w)(l)—Bm
B> Dise I, = MR’ | 2
| " A 3m 1m
C > Ring I, = IMR® | Osto3s  Av.velocity = N :;
|
Now I >Iy>1, | 0s to 3s Av—speed:$:3m
| BN S
= (KE). > (KB), > (KE), | 35. (4)
|
W.>W,>W
= ¢ B A | Reference: Incline Plane
32. (2) |
|
|
m Vv dm | m |
—> - o 4m v, |
|
P =P, |
mv+0=0+4mv, I
v, =Y |
= 27 | Mass At rest = ma cos 0 =mgsin0
coefficient of restitution | a=gtan0
u_g l
eoY2mVi_a4 "1 : 36. (4)
u-u, u-0 4
620125 2 I F=4i+5)-6k
| Position vector of point of application of force
| T =2i+0j-3k
33. (4) i J
34. (2) I Position vector of refrence
9 x 61?1/5 Sy | T =21+2j-2k
0s Is 28 : - -
r=r-p
|
| & A
3 X 2s | r=0i+2j-1k
| .
o | Torque z=7xF
Os to 1s acceleration a = — | 2 % P
m 1]
|
. q | =0 2 -1
Is to 2s retardation a = ——
m | 45 -6
|
2s to 3s acceleration a:E | f:z _1§_0 _Ij+0 212
m | 5 -6 |4 -6 |4 5
Osto Is  Distance covered | .
I T=-7i-4j-8k
|
|
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Date : 06.05.2018

37. (4)
L.C.=0.00lcm=0.01lmm
MSR = 5mm
VSR = 25div
Diameter of ball = zero error + MSD + LC x VSR
=0.04+5+0.01 x25
=0.04+5+0.25
=5.29 mm
=0.529 cm
38. (4)
Angular Momentum L = constant
2 , )
MOI [= gMR’ increase
1., I
KE=—In"=— decreases
2 2
L
L =1Iw=constant = o= T decreases
39. (2)
B
I<A > KB > KC
40. (4)
Meurlh = M(Salne)
GM MV — sun
g = Rz sun 10
G' =10G

, 10GM

10g

5

(1) Time period of Pendulum

T:ZTE\/Z

g

Toon |- 2T
102 /10

Time period decreases

(2) Gravity of Earth increases
Walking becomes difficult
(3) As gravity increases
Velocity of rain drops increases
(4) gchanges

41.

42,

43.

NEET-2018/Code #AA
(2)
Ky K2 Ky S
K,.. R* 5 Kiow 7
(1)

The forces acting on the sphere are its weight
5 . 4 |
%nr“pg downwards, buoyancy force gnr”cg

upwards, and viscous force 6nnrv upwards. The

sphere attains the terminal velocity v, when the

resultant force on it is zero i.e.,

4 4
Eanpg = Enr%g +6mnrv,

Solve above equation to get the terminal velocity,

, =2r'elp—o)

t 9']’]
The rate of heat generation is equal to the rate of
work done by the viscous force which, in turn, is
equal to its power. Thus,

dQ (6nrnvt)(vt) = M

dt 271
(1)
Power o(T)* (1)
From Wein’s Displacement Law
L T =Db(constant )
2T =top
T, 3
— T_z = Z .(2)
4 4
(Power), [T, _(gj _ 8
(Power), (T, 4 256
P8t
nP 256
256
=

8l
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NEET-2018/Code #AA

44,

46.

47.

48.

()

[

A Q

Zl
A=A

V=V
3AI'=Al

=L
3

Same material = Y' =Y

|
|
|
|
|
|
|
|
|
|
|
|
|
|
_FIA }
|
|
|
|
|
|
|
|
|
|
|
|
|
|

m=0.1gm

Q =54cal =54x4.18] =225.72

V; =167.1cc

V. =0.1cc

AV =V, -V, =167cc=167x10"°m
P=1.013x10°Nm~

W =P(AV)=1.013x10° x167x10°°

Wen know that Y :1 013 16 7
(Al)/ 1 DR
=16.92 Joule
= F= YAZ(N) Y = Same, A/ = Same Q=AU+W
A 225.72 =AU +16.92
Foc— AU =208.8]
FOAL A L9
F A I'" A [/3 1
F'=9F
|
(3) I 50. (2)
. | 51. (2)
HNO3 =+5 P
NO = +2 - ‘
N2 =0 8(‘1 —F
NH4C1 =-3 \
F
1
(1) 3 52. (4)
MF
Boron doesn’t have vacant d-orbital so it can’t have
6 covalury. ) . . . Anhyd.
) ©+(,H;(,HWLH7(ITC6>

Ellingham diagram the metal which lie below can
reduce metal which lie above toit.

(F.C. Alkylation)
with Rearrangement

49. (4) of carbonation
B<Ga<Al<In<TI Ch s OH
\’ 0
due to poor shriding of d-orbitals ()0 +CH ! ol
(ii)H;0"/A ' '
Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058
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NEET-2018/Code #AA

53.

54.

55.

56.
59.
61.

62.

63.

64.

65.
66.

67.
68.

(4)

////«\\x////p
Nh,

;e
o

(4)
Regarding cross linked polyer
(4)
In acidic medium aniline is present as anilium ion.
(3) 57. (1) 58. (2)
(3) 60. (4)
(3)

CH, CCl, €ClL,

3ChH/A Jl/g Bnh/Fe |
_3HC, !
ner "\ A S
l Zn/HCl
CH,
Br

(4)

CH4 +Br2 —> CH3 —Bl‘%}CZHG

y
(2)

CH,=CH-C=CH

P11

Sp” Sp° Sp Sp
(1)
NO,
= 3 Resonatic structure
H
% @
(3)
(4)

Carbylamine reaction
Intermediate = carbone (: CCl,)
(4)

(1)

Haloform Reaction

Q CH - Ch, and I,
|
OH

69.

70.
7.

72.

73.
T4,

75.
76.

77.

(3)
Co+3=db = \/ﬁBm.

Cr+3=d’ = \/EBI??.
Fe+3=d’ :x/B_SBm.

Ni+2= d® =/8Bm.
(4)

(2)

Iron Carboxy Fe(CO)s is
Mononuclear

(3)

The type of Isomerism.
geometrical isomerism

(2)
(4)

75mL % HCI+25mL % NaOH

1 1
129 10

100 100
=10 =[H+]
PH = |
1
(3)

liquification of a, o, ‘a’
a — vander waal constant for pressure

Gas a
NH; 4.17
H, 0.244
0, 1.36
CoO, 3.59
So, NH; can be easily liquified.
(3)
solubility of BaSO,, s =2.42 x 10~ g/L.
= ol %107 mol/L.
233

BaSO4(s) + H,O(/) = Ba > (aq.) + SO, *(aq.)
t=0 —~ —

S S
t=t

eq’

2 =2
K, :[Ba* J[SO4 J

2
—sxs=52 :[2'42x10—3]
233

=1.08x10"" "m0l / I
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Date : 06.05.2018 NEET-2018/Code #AA
78. (3) I 84. (2)
In which case | For zero order reaction,
18 ml of water = m=v x d |
m =18 ml x 1 gml-! | (,%)_ B - %
= 18g = 1 mol. | 2initial - 2k
79. (2 | 2a -
) | (ty) =—0:2(fy)1n1t1al.
1 | 2/final 2k 2
LW | 85. (1
2 0) B (1)
AH
80. (3) |
81. (4) | X, =»2X xX. klI.
| Y, »2Y 0.5 x. kJ.
+[50xidation] I XY 5>X+Y X. kJ_
+1 0
BrO; — HBrO.  BrO3/HBrO=1.5v |
Reduction] I X, Y, > 2x4  AH=2x(-200)
+1 0
0
HBrO — Br2 EHBrO/Br2:14595V | +x kjl + O.SXlkJ g — 400 kJ
Hence, HBrO has equal tendency for oxidation as |
well as reduction. | 2x + 2y
, HzBrO undergo disproposition reaciton. | Apply Hess’s law —> a
82. (2 I X +0.5x — 2x = — 400
S —
- /\ | — ¥ =400
MnOj +C,0;> + H" - Mn*? +C0O, +H,0. | x= 800kJ.
3 +4 |
>< w |
n=>5 =1Ix | 86. (4)
—H | ‘a’ denotes, forces of attraction between gas
| molecules
So, MnOj +5C,0, +16H + |
0 | 87+ (2)
— 2Mn"" +10CO, +8H,O0. |
83. (3) | No. of electrons Electronic configuation
| CN'[6+7-1=12 ( ]sXcsszstqu_anp\ 7521)1)
A (g)+B,(g)=X;,(g),AH=—-xKkJ. I CN | 6+7+1=14 (cs cioiol Xcszanmp\fnqp‘)
For formation of product, reaction should proceed | [No| 7+8-15 (61’1 slolol, XGM T = ;R‘,Xn;)x - népy)
in forward direction. | N P @20*26 o2Yo2 Yo2 )
So, For exothermic reaction, | ’ 15715225725 R22p2 A2px — 727
so reaction proceeds |
TL-KT-
in forward direction. I So, B.O.for CN* = Np—No _8-4 _ )
2 2
! |
For the reaction, Q,, = L[H—Tj | B.O. for CN™ _10-4 3
I’IA2 .1’132 PT |
and Qp < Kp so reaction | B.O. for NO = 10-5 _ 2.5
On PT, Op 2 , L | 2 '
proceeds in forward direction. |
: B.O. for CN :%:2.5
|
|
|

dDTarget PMT
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NEET-2018/Code #AA

88. (4) 90. (1)
Electronic Configuration Valency In option (1), Electronic configuration of N is
2
Mg 1S2 252 2p6 352 2 lS 25 <p
X 2 ; Pttt
So, Mg+ 2 & x — 3 will form E formula will be Hund’s Rule is voilated
Mg;X, . because acc. to Hund’s Rule, when electrons
arefilled in degenerate orbitals they have some spin
89. (1) quantum number.
density = -
I\IAaJ

For BCC, density =

For FCC, density =

g Y

2><M z=2.
N (175) =R
4xM z=4.

density/BCC B 2M B 3\/§
density/FCC 3 42
’ Na(*5/5)
4M

NA (/)
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